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W2- km 0+255,40

R= 16,0m

Z= 3,01 m

To= 10,26 m

= 72,61 g

przechyłka jednostronna 2%

W3- km 0+467,20

R= 25,0m

Z= 1,30 m

To= 4,51 m

= 0,40 g

przechyłka daszkowa 2%

W4- km 0+600,00

R= 150,0m

Z= 0,24 m

To= 9,36 m

= 7,58 g

przechyłka daszkowa 2%

W5- km 0+719,15

R= 150,0m

Z= 0,13 m

To= 6,34  m

= 6,34 g

przechyłka daszkowa 2%

W6- km 0+813,48

R= 250,0m

Z= 0,15 m

To= 8,87 m

= 4,46 g

przechyłka daszkowa 2%
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W1- km 0+028,27

R= 80,0m

Z= 0,29 m

To= 6,81 m

= 10,89 g

przechyłka daszkowa 2%
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